Cambridge 13 | Academic Reading | Test 1 | Passage 1

Case Study: Tourism New Zealand website (Q1-Q13) J |a number of Ct==9]
[J |inhabitant Z0l [ |interactive = F 0l
[ |long-haul el 2 [ |blockbuster =SHAH
[ |make up o} SHL}, ~2 O F L} O [film A3}, =2t5tCt
[ |currently =R [J |add to Z=Jt5tL, oSt
[J |tourism of 24 [J [additional =7t 0l
[J|gross domestic product | =Ll Z444t [ |devise & OFSICE 11 St}
[ |export =5 [J [customised 7474 Qlol @ 7o E
[ |sector =Of [ itinerary ol A™
[J |unlike ~QF e [ |catalogue =5 =2 U0
[J |overseas i 2| [J |highlight el
[J |customer nkl ] [indicate LHEFLHCH
[ |launch A|ZfSHE}, ST [ |allow 5|25t}
] |campaign A2, 25 [ |be interested in ~0f 2t o] ULt
O [communicate O|AtAEBIC} [] |attraction o, g4
[J |focus on ~0f FESHC} [ |register el
[ |scenic 38X £2, FOEX 9 [J [accommodation =3, =9 A4
[ |beauty 0|& [ |be unlikely 7HA-H0| St
[ |exhilarate Of = 7|87 SiCt ] [achievement Ch
[1 |outdoor OF2| 9 [J [innovation <M
[ [authentic ZIxRto|, H=tst [ |perhaps otot=
[ |feature £d, 54 [J [impressive ole el
[ |destination =S5 X| [ |overall Mt 0l
1 |have to ~5|{Of S}C} [ |expenditure X| &, H|&, 4H|
[1 |potential 0l [J |average ol
[ |gateway T HE O [annual Azt
[] [database Ci| O] E{ Hj| O A ] [compare H| 0 SHCf
[J [operator IS EEINS [ |both A and B ARt B 25
[ |abroad 5 2| 2 [ [set up ZH| 5L}, A ElStot
O |fill in ML (MFE) Agsttt | O [search for = Xt
1 |in addition A7t [ |geographical X|2[gto|, X|2| &0l
[1 |presence =X [ |needs 22
[ |access Horstot O [interests =0
[ |participate ISt [ |particular EYst
[1|be able to ~= g = ALt [] |satisfaction o=
[ |update 2 G| O| ES}Ct [J |contribute 7| ofstCt
[ |details N &AL ] |account for A HSIC} S| HSHTt
[ |on a regular basis Yoz [ [undertake Kp=StC}
[ |accurate Hatst ] |cultural =25 0l
[1|scheme MEF A= [ |involved in ~0f 2tz
[1|undergo ALt [ |traditional HESHQ
[ |lindependent SEHOQ [0 |meaningful ool =
[ |evaluation E7t O |involve E SO}
[J|a set of 259, ~ot ME [ |typical M EQl
[ |environment sty ] [rather than ~HCHE
1 [former 0|2 [ |composed x| Cf, A Aot
[] |attract 022 NCt [ [generally dut™ oz
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infrastructure Al A

effectiveness k=2,

strategy HE

based on ~0f 7|2H5H0

unique =575 £0|ot
comprehensive Z2F0l FH 0l
user-friendly AHESHZ| %2

get on the list FErof| 2|0, =B|A|7|Ct
evaluation Bt

impact on ~0f CHoh Ak

interview with

~of GIE = 3ICY

interactive

PR

depending on

~Of o2t

be related to

~9t BHAL|C
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Why being bored is stimulating (Q14-Q23) [ |calm E &
[J |productive A QI [ [trait £73
1 |outcome A= [ |be prone to ~5t7| Lt
[] [boredom N [ [creative ol F 0l
[ |cure L= O [further O LtOf7t
[] [scientific S ESEL] 1 |be afraid of 2SI}
[] |arise from ~Of A 4SO} [J [encourage Z 2{ 5L}
[J |potential A 2 [J |copy out of ~0j| A = A}SHCH
[] |classification =25 [J |polystyrene Zc|AE[H
[ |identify 2tolStCt, & 745t [ |creativity ol
[J |common 52 [ [in fact Ate 2
[ [turn out ~Ol &|C} 1 [so far as ~TJHK|
[ |keep one's mind on 022 AL} ™ESHCt [ |seek out ~2 XOfLYC}
[ [equally HSSHA [J |convince HSAl7|C}, 253}
[] [stretch out == M1 sCt [ [undesirable K| Qb=
[ [define do|stCt [ [adaptive M3 = Ues
[] [mental states HAl AEY [ |actively 2|
[] [frustration e [ [toxic =49
[ |apathy 22 [ |evolve 2 EHSIC}, TSk
[ |depression = [ |fester =0 OFEH X|CF, A S X| T}
] |indifference £t 1 [central =89
[J |agreement oto| 9| ] |connect with ~0f AZE|Ct
] |flat FEot HEtst [J |end up -ing 4= ~5tA E|C}
[] [restless 7toHS) X U= [ [overstimulation HAR=
[1|compare H| W ShC [ |cope with ~Of CHX{StC}
[ |disgust AU, 3AS [ |irritability dag ool
] |motivate 7| 5045} [ |repeatedly & Z0|35}0]
[ |stay away from ~2EEH B ULt ] |wander =OFChL| T, oi|OjCt
[ |protect A from B BEEEH AE EZsiCt [] |instead of ~CH 210
[] |infection ¢ [ [explore RN
[ |infectious ML= [J |come down Lj2{ L}, HLtC)
[ |distinct Faeh %ot [ [at least o=
] |indifferent Faast ] [proneness a4
[J |calibrate ca= 07|t ] [be linked with ~Q 2E 0| UL}
[] [reactant g3=, BH85t= O [a variety of CHfot
[1 |apathetic Faot dEHot [J |pleasure 7|E
[1 |be plotted on ~0f| BHS01 % [] |threshold =X oHAH =5
[ |axe 7|, SEH maf, Atz [ |be associated with ~Qf ZHAH &
[1 |unpleasant Mo SUX| @2 O [prospect 7t Ofl &f, BFALSICE
O intriguingly §7|§% X|';|'_6|-01 ] [work with NQI' 3.:.”71| OEI?SI'EI'
[J |tend to ~St= ZE0| QUCt [] [alleviate %ﬂﬂ'tf
[ |specialise E3tsict ] [in other words CEA| 2HsH A
[ [explosive el [ |get stuck in W 235| A| RSO
[J |arousal et7|, Xi=, 44 ] |avoid | ShCt
[] [be engaged in ~2 HfHCH FALSICH [ |distraction 25
[ [satisfying =SSt O [speculate FEIC
[J |relaxed =3t OJ
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[ |artificial 212 H el [ [classical EAESR

[ |possess sl 1 [fool 7| 2tstet, £0|Ct
[J [audience A 2E J [genuine Tldst

[J |enrapture =5t stCt =FA|Z|Ct | O |pseudoscience O Atatst

[ |trick A into AE £0M ~5tA 5ot [ |condemn THEHSICE M

[] [composer A5 X} [ |deliberately InCIERCTE

1 |be hung in Of & 2 [ |vague ot

[J |prestigious dRo Y A= [] |replicas =

[ |species 5 ] [find out AOFLHC}, HHS
[J |perform HSHC} ] |outraged with A&t

[J |sophisticated Fuoh Mot ] |beforehand AHEOf

[ |break A down into ~E Zoli5t} O |tune SIC}, 5, 3%
[ |core X [] |assess 4 715HCF

[ |humanity o1Zhg O |dislike Of 5tC}

[] |computational AFEE A0t [ |objective 2425 Ol

[ |creativity &old (] [prejudice

[ |researcher AR [J |predictable 7ts%t

[ |scare 247 Stct [ |reckon Rkl

[J |be familiar with ~0f =55t [ |pleasure =, 7|2 kot
[ |computerised AFE [ |irresistible 22 =7t Q=
[ |pick up 7 M =|CF K| Lt [ |essence

[ [paintbrush = O |enjoyment =

[ |impressive 21X 0l [ |wonder = ot Ct

[ |perhaps OfOtE [J |obvious T o

7 |tool =7 ] |tend to t= 80| U=
[ [realise THEA SO O |precisely HZ, & Y3

[J [make sure St SHA| SO ] |attain O|FLCt

] [criticism H| T, B ] [a great deal of ChEFo

[J [minimal ES el [ |progress ZISWSICH ™IS
[ |direction gt ] |attain O| £LCf

[1|come up with ZEOFLY T, X AISHCE [ |artistic °

[1]go online =2FI0)| =55tk [ |genre

[ [display xlgsich [ |as significant as ~ SOILL T8
[1|landscape 4 [J |advance o, 2

[ |refer to ~= LIEFLYCE, EZRSICH | O [aesthetically Moz

[ [point out INESErIn O |inferior to ~HCH 25

] [unexpected of| & X| = ot O [ultimately IIHoZ

[J |come out in =L} [ [supersede CH x| SFEF

[ |renowned w30t B3 U= (] [undermine AlZ|C}

[ |eerie | Ak [ [fundamental T=X0 &

[ [lauded for 2td e AA e [ |deterioration otat

[ |fascinated 2=l [ |standard 1 BEE

[1 {come close 79| ~gt SICt 0 |output AE

] [subtle o|2st O |dismiss S ASHC}, Sf 0 5tHC}
[ |not only A but also B AF T OtL|2t B [ |childish TR

[J |composition 5 788 [ [simplistic KILEX| A E

[ |revered EgE= [ |unreasonable =22 ot
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product A=

judge THEFSICE
criteria 7| &
according to ~0f| h2tA
imaginative o|HQl
exhibit H A5t
limitation Aot

criticise H| £HSECF
participant S
virtually 7144 9|
indistinguishable TE0| Otk[=
whether ~QIX|

entirely HE

compare H| W SFCF
reveal LIEFLHC}, E2{L{Ct
persuade 2S5t
discover ERailin]
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